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15 th
€ 12" term of the sequence?

On_ = L{,,}-C“o"l3 = M4
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nd each term after the first is 7 more than the previous term.

a. 77 = ¥
d. 86
2. Findt
e Lf,he 25" term of the sequence 7, 11, 15,19, 23, ...
(o) 103 Oy = 1+ (o)
g = N+ A6 c. 107
b. 104
- LD?D 111
Which represents the nth term of this sequence? 31, 36, 41, 46, 51, ...
20rQ )5
a. 51+(n-1)6 c. 31+(n-16
b. 51+(n-1)5 @) 31+(n-1)5
_ of = =6
What is the 9h term in this sequence? 20, 14,8, 2....
) Qi = 2o +(82-6)
a. 6 ; .
—no — WX G 22
b. -4 _ _og -28
What are the first four terms in the sequence whose nth term is g, = (—2)” +1 "
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a. 3,456 —\ ) 5 @-1,5,-7, 17
d. -2,4,-8,16

b. -1.1.-1,1

g term of an arithmetic sequence is 36. If the common difference is 2, what is the first term in

Oe- a, + (g2

The
the sequence?

2
24 2L = Q. 14
c. 38
d. 6 //r}j,




